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SUMMATIVE ASSESSMENT - Ill 2016 - 2017
MATHEMATICS
(English Medium)
PART -A&B
Class : VIl ] (Max. Marks : 80) [Time : 2-45 Hrs.

Instructions :

1. Tn the fime duration of 2 hrs. 45 min. first 15 minutes is exclusively allot-
ted to read and understand the Quesion Paper.

2. The Question Paper comprises of three sections T, TT, TIL.
3. All Questions are compulsory.

4. There is no overall choice. However there is an internal choice to the
Questions under section - I11.

5. Part-A&B should be given at the begining of the examination only.

Marks : 60] PART - A [ Time : 2-00 Hrs.
. Section - 1
Note 1. Answer all the Questions.
2. Each Question carries 2 Marks. 4x2=8

i1

2. Write the standard form for 0.0000456 and 0.000437 x10 °
3. Drawaroughdiagram of Square Pyramid.

4. Write any three two digited consecutive numbers, Find their arithmatic mean.

Check whether i i is one of not.
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Section - 11

Note: 1. Answerallthe Questions,
2. Each Question earries 4 Marks. 5x4=20
R in 3 =g
5. Express4 in - formand find the value of =

6. Ifthelength of arc ofa sectoris 7 % cm. anditstadius is 7 em. find the arca of the
sector.
7. Whatisan algebraic identity? Give two examples.
8. Forapyramid whose base s apentagon. Write F, V. I and use Euler's relation.
9.  Seven obscrvations are given as 15, 12, 18, 15, 18 x, y (x, y are whole
numbers)
1. Write any two possible values of x, yif median of the datais x.
2. Write any two possible values of x, yif the median s 15.
Section - 111
Note: 1. Answerall the Questions.
2. Answer any one from internal choice of each Question.
3. Each Question carries 8 Marks. 4%x8=32
10. 30 workers can finish.a work in 24 days by doing 6 hrs. per day. Find the
numbet of workers o finish the same work in 20 days by doing 8 hrs. per day.

(OR)
The following details of field are noted in metres in the field book of a surveyor:
find the area of the field.
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11.  Theareaofasquare field is 5184 m?. Find the area of a rectangular field whose

Tength is equals to the side of the square and breadth is 54m.

(OR)

Divide42(a* ~13" +36a" )by Ta(a=4).

12.  Find the difference between compound and simple interests on amount of
Rs.10,000/- ata rate of 10% per annum for 2 years and check the better one.

(OR)

There are two cuboids which have same shape and size. It length, bredth and
height of cuboids 15cm, 2em and Gem respectively. Check in which way it

means less paper for packing both cuboids.
1)By. i i

B B e ; i

13 Draw frequency Polygon by using mid values for the given data.

Class Interval lmrzo gzorso 30-40 | 40-50| 50-60
Frequency EBEED 16 1 3
(OR)

# PQ=4.5cm, QR=52cm,RS=55 cm, PS=4 cmand ZPQR=120°

construct the Quadrilateral PQRS.

[ Turn Over



Free Hand


